Metric Definition
N
Mean bias (MB) MB= 4 > (M; - 0))
i=1
1 N
Mean gross error (MGE) MGE = & > M; — 05
i=1
N
Root mean square error (RMSE) RMSE = % > (M; — Oi)2
i=1
2
Index of agreement (I0A) I0A =1~ 5 NRMSE
3. (|M~0|+|0i-0|)*

Pearson correlation coefficient (r)

Z(M —M)-(0;—0)

\/Z(M -M)2. \/Z(O 0)?

N
Mean fractional bias (MFB) MEB =}, 3 2-Mi=00
l:l 1 1
L Yoomi—oi
Mean fractional error (MFE) MFE = ~ > W

Il
-



http://badc.nerc.ac.uk/data/ukmo-midas/ukmo_guide.html
http://badc.nerc.ac.uk/data/ukmo-midas/ukmo_guide.html
http://weather.uwyo.edu/upperair/sounding.html
http://acm.eionet.europa.eu/databases/
http://woudc.org/data.php
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